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1If A( — 2,2,3)andB(13, — 3, 13) are two points. Find the

locus of a point P which moves in such a way that

3PA = 2PB

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Kyu9x56R8fZE

2. Find the coordinates of the point which divides the joint of
P(2, —1,4)andq(4, 3,2) in the ratio 2:3 (i) internally (ii)

externally.

o Watch Video Solution

3. Show that the plane ax + by + cz + d = 0 divides the

line joining the points (z1, y1, 21)and(xa, ya, z2) in the ratio

ary +by; +cz; +d
azry + by, +czog +d

o Watch Video Solution

4. Find the ratio in which the line joining the points
(1,2,3)and( — 3,4, — 5) is divided by the zy — plane .

Also, find the coordinates of the point of division.


https://dl.doubtnut.com/l/_q0WkkcSiI8MM
https://dl.doubtnut.com/l/_IT9I6ClSakUn
https://dl.doubtnut.com/l/_05nW9FPkHHws

o Watch Video Solution

5. The mid-points of the sides of a triangle are

(1,5, —1),(0,4, — 2)and(2, 3, 4)- Find its vertices.

o Watch Video Solution

6. Find the distance between the points P (1, 3,4) and @

(4,1,2) .

° Watch Video Solution

7. Prove by using distance formula that the points

P(1,2,3),Q(—1, — 1, — 1)andR(3, 5, 7) are collinear.

[ e~ S |


https://dl.doubtnut.com/l/_05nW9FPkHHws
https://dl.doubtnut.com/l/_kuoKbEDnAeXV
https://dl.doubtnut.com/l/_y6oof4FmT9Zv
https://dl.doubtnut.com/l/_J7SM63xt0qUP

[ W Watch Video Solution ]

8. Determine the point in XY — plane whcih is equidistant

from three points A(2, 0, 3), B(0, 3, 2)andC(0, 0, 1)

o Watch Video Solution

o. Show that the points
A(0,1,2), B(2, —1,3)andC(1, — 3,1) are vertices of an

isosceles right-angled triangle.

° Watch Video Solution

10. Find the coordinates of a point equidistant from th four

points O(0, 0, 0), A(a, 0, 0), B(0, b, 0)andC(0, 0, ¢)-


https://dl.doubtnut.com/l/_J7SM63xt0qUP
https://dl.doubtnut.com/l/_CYiQN90hKVG4
https://dl.doubtnut.com/l/_VlvRWl1NyO6U
https://dl.doubtnut.com/l/_kE229eg8Uj2M

o Watch Video Solution

11. Find the point on y-axis which is equidistant from the

points (3, 1, 2) and (5, 5, 2).

° Watch Video Solution

12. Prove that the triangle formed by joining the three points
whose coordinates ere (1,2, 3), (2,3, 1)and(3,1,2) is an

equilateral triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_kE229eg8Uj2M
https://dl.doubtnut.com/l/_Ixq00LIiLDrw
https://dl.doubtnut.com/l/_DMZOlfIjwg9q

13. Prove that the lines joining the vertices of a tetrahedron

to the centroids of opposite faces are concurrent.

° Watch Video Solution

14. Using the section formula, prove that the three points

A(—2,3,5),B(1,2,3) and C(7,0, — 1) are collinear.

° Watch Video Solution

15. Find the coordinates of the points which trisect the line

segment AB, given that A(2,1, — 3) and B(5, — 8§, 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_J4zhLqBxCO4M
https://dl.doubtnut.com/l/_gj2pG36IJVHP
https://dl.doubtnut.com/l/_NZRZZBrAed8w
https://dl.doubtnut.com/l/_NcZBQ2PNKE5y

16. Find the ratio in which the join the
A(2,1,5)andB(3,4,3) is divided by the plane
2z + 2y — 2z = 1. Also, find the coordinates of the point of

division.

o Watch Video Solution

17. Planes are drawn parallel to the coordinate planes
through the point P(z1, y1, 21) and Q(x2, ¥2, 22) . Find the

length of the edges of the parallelopiped so formed.

° Watch Video Solution

18. Name the octants in which the following points lie: (5,2,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_NcZBQ2PNKE5y
https://dl.doubtnut.com/l/_bcYRgox1yl8K
https://dl.doubtnut.com/l/_6uWkSJqOOcDo

19. Name the octants in which the following points lie:

(-5,4,7)

o Watch Video Solution

20. Name the octants in which the following points lie:

(-5/4,3)

° Watch Video Solution

21. Name the octants in which the following points lie:

(-5,3,2)

o Watch Video Solution



https://dl.doubtnut.com/l/_6uWkSJqOOcDo
https://dl.doubtnut.com/l/_LwqW09lEW2g4
https://dl.doubtnut.com/l/_nQ7gMIYiWKh5
https://dl.doubtnut.com/l/_FHxWI2lwJjOB

22. Name the octants in which the following points lie:

(4,3,5)

° Watch Video Solution

23. Name the octants in which the following points lie:

(2,-5,7)

o Watch Video Solution

24. Name the octants in which the following points lie:

(7’4 ,-3)

o Watch Video Solution



https://dl.doubtnut.com/l/_GxlJjkHQ0krp
https://dl.doubtnut.com/l/_VYYRygxGpaQg
https://dl.doubtnut.com/l/_Z7C4Opkfh7ke
https://dl.doubtnut.com/l/_P8l2vw48YEzX

25. Name the octants in which the following points

(-7,2,-5)

lie:

° Watch Video Solution

26. Find the image of: (-2,3,4) in the yz-planes.

o Watch Video Solution

27.Find the image of: 5,2,-7) in the xy-planes.

° Watch Video Solution

28.Find the image of: (-4,0,0) in the xy-planes.

| o WMiab .\t daa CAliibiam



https://dl.doubtnut.com/l/_P8l2vw48YEzX
https://dl.doubtnut.com/l/_DLPkT2KnqRKm
https://dl.doubtnut.com/l/_oxVambsDgQVG
https://dl.doubtnut.com/l/_quI3JwBXWgIq
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29. Find the image of: (-5,4,-3) in the xz-planes.

o Watch Video Solution

30. Find the image of point: (-5,0,3) in the xz-planes.

° Watch Video Solution

31. A cube of side 5 has one vertex at the point (1,0,1) and the
three edges from this vertex are respectively, parallel to the
negative z andy axes and positive z axis. Find the

coordinates of the other vertices of the cube.

° Watch Video Solution



https://dl.doubtnut.com/l/_quI3JwBXWgIq
https://dl.doubtnut.com/l/_NdPNHjwTsPB6
https://dl.doubtnut.com/l/_aIrGLh3gnPLf
https://dl.doubtnut.com/l/_fKKnSuwRaMtp

32. Planes are drawn parallel to the coordinate planes
through the points (3,0,-1) and (-2,5,4). Find the lengths of

the edges of he parallelepiped so formed.

o Watch Video Solution

33. Planes are drawn through the points (5,0,2) and(3,2,-5)
parallel to the coordinate planes find the lengths of the

edges of the rectangular prallelopiped so formed.

o Watch Video Solution

34. Find the distances of the point P( — 4, 3,5) from the

coordinate axes.


https://dl.doubtnut.com/l/_fKKnSuwRaMtp
https://dl.doubtnut.com/l/_5rjd7KsVoJLw
https://dl.doubtnut.com/l/_7jD1h7QB2J9Q
https://dl.doubtnut.com/l/_tXBkyG8YVcoR

o Watch Video Solution

35. The coordinates of a point are (3,-2,5). Write down the
coordinates of seven points such that the absolute values of
their coordinates are the same as those of the coordinates

of the given point.

o Watch Video Solution

36. Find the locus of the point which is equidistant from the

points A(0, 2, 3)and B(2, — 2, 1).

° Watch Video Solution



https://dl.doubtnut.com/l/_tXBkyG8YVcoR
https://dl.doubtnut.com/l/_Zc9djB6NobBG
https://dl.doubtnut.com/l/_sQfIVUYoeivI

37. Find the distance between the following pairs of point:

P(1,-1,0) and Q(2,1,2)

° Watch Video Solution

38. Find the distance between the following pairs of point:

Q(3,2, — and B( — 1,1, — 1).

° Watch Video Solution

39. Find the distance between the points P and ) having

coordinates (-2,3,1) and (2,1,2).

o Watch Video Solution



https://dl.doubtnut.com/l/_JlN2o7QQLLMm
https://dl.doubtnut.com/l/_2N8hHylvlVwZ
https://dl.doubtnut.com/l/_XVBAgrKkZXK3
https://dl.doubtnut.com/l/_9z5zjr1ZvL5N

40. Using distance formula prove that the following points

are collinear:

A4, —3, — 1), B(5, —7,6)and C(3,1, — 8)

o Watch Video Solution

41. Using distance formula prove that the following points

are collinear:

P(0,7, —7), Q(1,4, — 5)andR( — 1,10, — 9)

° Watch Video Solution

42. Using distance formula prove that the following points

are collinear:

A(3, —5,1), B( — 1,0, 8) andC(7, — 10, — 6)



https://dl.doubtnut.com/l/_9z5zjr1ZvL5N
https://dl.doubtnut.com/l/_hbWab9y754sM
https://dl.doubtnut.com/l/_lB659EvimBMm

I o Watch Video Solution

43. Determine the points in i. xy-plane which re equidistant

from the points A(1, — 1,0), B(2,1,2), and C(3,2, — 1)

o Watch Video Solution

44. Find the points on z-is which are t a distance /21 from

the point (1,2,3).

° Watch Video Solution

45, Show that the points (0,7,10), (-1,6,6) and(-4,9,6) are the

vertices of an isosceles right angled triangle.

-y |


https://dl.doubtnut.com/l/_lB659EvimBMm
https://dl.doubtnut.com/l/_OwD7g48pY7NU
https://dl.doubtnut.com/l/_YP5MWnlcmBkM
https://dl.doubtnut.com/l/_TPFLxczusnF7
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46. Show that the points
A(3,3,3,), B(0,6,3), C(1,7,7)and D(4,4,7) are the

vertices of a square.

o Watch Video Solution

47. Prove that the point
A(1,3,0), B(—5,5,2), C(—9, —1,2)and D( — 3, — 3,0)
taken in order are the vertices of a parallelogram. Also, show

that ABCD is not a rectangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_TPFLxczusnF7
https://dl.doubtnut.com/l/_TdY7p2J68icp
https://dl.doubtnut.com/l/_yPvQ11HJHh78

48. Show that the points
A(1,3,4), B(—1,6,10), C( — 7,4, T)and D( — 5,1, 1)

are have vertices of a rhombus.

o Watch Video Solution

49. Prove that the tetrahedron with vertices at the points
0(0,0,0), A(0,1,1), B(1,0,1)and C(1,1,0) is a regular

one.

o Watch Video Solution

50. Show that the points (3,2,2), (-1,4,2), (0,5,6), (2,1,2) lie on a

sphere whose centre is (1,3,4). Find the also its radius.

| n|ll,l,l,\",l,,ﬁ,l e


https://dl.doubtnut.com/l/_EwsJwFS0LVAv
https://dl.doubtnut.com/l/_y3bDpHr6YxZI
https://dl.doubtnut.com/l/_fIFSD5xVEQaZ
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51. Find the coordinates of the point which is equidistant

from the four points
0(0,0,0), A(2,0,0), B(0,3,0)and C(0, 0, 8).

o Watch Video Solution
52. Find the locus of
P if PA? 4+ PB? = 2k’®where Aand B are  points

(3,4,5) and (-1,3,7).

° Watch Video Solution



https://dl.doubtnut.com/l/_fIFSD5xVEQaZ
https://dl.doubtnut.com/l/_voG4JjqhBui5
https://dl.doubtnut.com/l/_z4wDYbZ7hQYP

53. Are the points
A(3,6,9), B(10, 20, 30)and C(25, — 41,5), the vertices

of aright angled triangle?

o Watch Video Solution

54. Verify the following: (0,7,-10), (1,6,6) and (4,9,6) are

vertices of an isosceles triangle.

° Watch Video Solution

55. Find out whether the points
(0,7,10), ( — 1,6,6) and ( — 4,9, 6) are the vertices of a

right angled triangle.

| n|ll,l,l,\",l,,ﬁ,l e


https://dl.doubtnut.com/l/_qBTWv1K2UMzu
https://dl.doubtnut.com/l/_oYBLQRwTBA7g
https://dl.doubtnut.com/l/_GzNx5B4fGvlc

{ ™ Vvvaldil vigeo o50Iution )

56. Verify the following: (-1,2,1), (1,-2,5), (4,7,8) and (2,-3,4) are

vertices of a parallelogram.

o Watch Video Solution

57. Verify the following: (5,-1,1),(7,-4,7), (1,-6,10) and (-1,-3,4) are

the vertices of a rhombus.

° Watch Video Solution

58. Find the locus of the points which are equidistant from

the points (1,2,3) and (3,2,11).

o Watch Video Solution



https://dl.doubtnut.com/l/_GzNx5B4fGvlc
https://dl.doubtnut.com/l/_Is2iDaJcpejs
https://dl.doubtnut.com/l/_dJ2tGLFCHSco
https://dl.doubtnut.com/l/_bNsW53mySPhY

59. Find the locus of the point, the sum of whose distances

from the points A(4, 0, 0)and B( — 4, 0, 0) is equal to 10.

o Watch Video Solution

60. Show that the points
A(1,2,3), B(—1, —2, — 1), C(2,3,2)and D(4,7, 6)

are the vertices of a parallelogram ABCD but not a rectangle.

° Watch Video Solution

61. Find the equation of the set of the points P such that is
distances from the points A(3,4, —5) and B( — 1,2, 4)

are equal.


https://dl.doubtnut.com/l/_bNsW53mySPhY
https://dl.doubtnut.com/l/_83DU8fnNDWuf
https://dl.doubtnut.com/l/_jZxfAkqRsKwL
https://dl.doubtnut.com/l/_W3nDThCqD8HO

A8z +y—182—29=0

B.8x +4y — 182 —29 =0

Cx+4y—182—-29=0

D.8z — dy — 182 — 20 = 0

Answer: B

o Watch Video Solution

62. Given that
P(3,2, —4), Q(5,4, — 6) and R(9, 8, — 10) are collinear.

Find the ratio in which ) divides PR.

° Watch Video Solution



https://dl.doubtnut.com/l/_W3nDThCqD8HO
https://dl.doubtnut.com/l/_dAoncYazlKpY

63. Three vertices of a parallelogram ABCD are
A(3, —1,2), B(1,2, —4)and C( —1,1,2). Find the

coordinates of the fourth vertex.

o Watch Video Solution

64. Find the lengths of the medians of the triangle with

vertices A(0, 0, 6), B(0, 4, 0)and C(6, 0, 0).

O Watch Video Solution

65. Let A(3,2,0), B(5,3,2), C(—9,6, —3) be three
points forming a triangle. The bisector AD of /BAC meets

sides in D. Find the coordinates of D.

| nlll,l,l,\",l,,n,l n®


https://dl.doubtnut.com/l/_ANlDfDwIv2P8
https://dl.doubtnut.com/l/_hIWF1B8Pjvpi
https://dl.doubtnut.com/l/_KLaNfpWb6F55

{ ™ Vvvaldil vigeo o50Iution )

66. If the origin is the centroid of the triangle with vertices
P(2a, 2,6), Q( —4,3b, — 10)and R(8,14,2¢) , find the

values of a and b.

o Watch Video Solution

67. A point R with x-coordinates 4 lies on the line segment
joining the points P(2, — 3,4)and Q(8, 0, 10). Find the

coordinates of the point R.

° Watch Video Solution



https://dl.doubtnut.com/l/_KLaNfpWb6F55
https://dl.doubtnut.com/l/_Ra2KLZZB53MO
https://dl.doubtnut.com/l/_FraOZJuOLDgC

68. Show that the coordinates off the centroid of the triangle

with vertices A(wh Y, Zl)’ B($2) Y2, Z2)and (5133, Y3, Z3)

($1+w2+$3 Y1+ Y2 + Y3 Z1+Zz+23)
are 3 y 3 y 3

o Watch Video Solution

69. Let P and () be any two points. Find the coordinates of
the point R which divides P(Q) externally in the ratio 2:1 and

verify that @ is the mid point of PR .

o Watch Video Solution

70. The vertices f the triangle are

A(5,4,6), B(1, —1,3)nad C(4, 3, 2). The internal


https://dl.doubtnut.com/l/_xyKVkhHB67nH
https://dl.doubtnut.com/l/_aXJEs6KMTlK4
https://dl.doubtnut.com/l/_0f7vIaQ09S9o

bisector of angle A meets BC at D. Find the coordinates of D

and the length AD.

° Watch Video Solution

71. A point C with z-coordinate 8 lies on the line segment

joining the point A(2, — 3,4) and B(8,0,10). Find its

coordinates.

o Watch Video Solution

72. Show that the three
A(2, 3, 4), B( - 1,2, — 3)and C’( —4,1, — 10)

collinear and find the ratio in which C divides AB.

points

are

o Watch Video Solution



https://dl.doubtnut.com/l/_0f7vIaQ09S9o
https://dl.doubtnut.com/l/_CzThytLu5BD2
https://dl.doubtnut.com/l/_miZh2C1DXm1u

73.Find the ratio in which the line joining (2,4,5) and (3,5,4) is

divided by the yz-plane.

° Watch Video Solution

74. Find the ratio in which the line segment joining the
points (2,13) and (-1,2,1) is divided by the plane

x+y+z=25.

° Watch Video Solution

75. If the points
A(3,2, —4), B(9,8, — 10)and C(5,4, — 6) are collinear,

find the ratio in which C divides AB.


https://dl.doubtnut.com/l/_miZh2C1DXm1u
https://dl.doubtnut.com/l/_DvW4st0rWhKM
https://dl.doubtnut.com/l/_LKBgIRMRVdZb
https://dl.doubtnut.com/l/_R89B1KHJ0ZQN

o Watch Video Solution

76. The id points of the sides of a triangle ABC are given by
(—2,3,5),(4, —1,7)and (6, 5, 3). Find the coordinates of

the angle ZBAC meets BC.

o Watch Video Solution

77. Find the ratio in which the sphere z2 + y? + 2% = 504

divides the line joining the points (12,-4,8) and (27,9,18).

° Watch Video Solution



https://dl.doubtnut.com/l/_R89B1KHJ0ZQN
https://dl.doubtnut.com/l/_qVxPfDKMGtGI
https://dl.doubtnut.com/l/_lcYFUPRfnBW8

78. Find the centroid of a triangle, mid points of whose sides

are (1,2,-3), (3,0,1) and (-1,1,-4).

A(l, —1, —2)
B.(1,1, —2)
C.(—-1,1, —2)

D.(—1, —1, —2)

Answer: B

° Watch Video Solution

79. The centroid of a triangle ABC is at the point (1,1,1). If the
coordinates of A and B are (3,-5,7) and (-1,7,-6) respectively,

find the coordinates of the point C.


https://dl.doubtnut.com/l/_883Wx0gsJayR
https://dl.doubtnut.com/l/_eF9lwsid76fm

o Watch Video Solution

80. Find the coordinates of the points which trisect the line
segment joining the points

P(4, — 2, — 6) and Q(10, — 16, 6).

o Watch Video Solution

81. Using section formula, show that the points

1
A(2, —3,4), B(—1,2,1) and C(O, 3 2) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_eF9lwsid76fm
https://dl.doubtnut.com/l/_dCPY0BLxGTgx
https://dl.doubtnut.com/l/_ONFHv0HJ2vxr

82. Given that
P(3,2, —4), Q(5,4, — 6)and R(9,8, — 10) are collinear.

Find the ratio in which ) divides PR.

° Watch Video Solution

83. Find the ratio in which the segment joining the points

(4,8,10) and (6,10,-8) is divided by the yz-plane.

° Watch Video Solution

84. Write the distance of the point P(2, 3,5) from the xy-

plane.

o Watch Video Solution



https://dl.doubtnut.com/l/_xd7xruqAU9dX
https://dl.doubtnut.com/l/_xvdljkAUg7i2
https://dl.doubtnut.com/l/_YRMnUsH4TjzT

85. Write the distance of the point P(3, 4, 5) from z-axis.

° Watch Video Solution

86. If the distance between the points

P(a, 2,1)and Q(1, — 1, 1) is 5 units find the value of a.

o Watch Video Solution

87.The coordinates of the mid points of sides AB, BC and CA
of ABC are D(1,2, —3), E(3,0,1)and F( — 1,1, — 4)

respectively. Write the coordinates of its centroid.

o Watch Video Solution



https://dl.doubtnut.com/l/_3NBC1f2fRus0
https://dl.doubtnut.com/l/_CjwfBLLrQ27m
https://dl.doubtnut.com/l/_E5w3jmpei2fC
https://dl.doubtnut.com/l/_aKTTpydhLxOt

88. Write the coordinates of the foot of the perpendicular

from the point (1,2,3) on y-axis.

° Watch Video Solution

89. Write the length of the perpendicular drawn from the

point P(3, 5, 12) on x-axis.

o Watch Video Solution

90. Write the coordinates of third vertex of a triangle having

centroid at the origin and two vertices at (3,-5, 7) and (3,0,1).

o Watch Video Solution



https://dl.doubtnut.com/l/_aKTTpydhLxOt
https://dl.doubtnut.com/l/_Dkka7ISTt2DW
https://dl.doubtnut.com/l/_Ub9AhqFGI87U

91. What is the locus of a point (x,y,z) for which

y=20,2=07

° Watch Video Solution

92. Find the ratio in which the line segment joining the

points (2,4,5) and (3,-5,4) is divide by the yz-plane.

° Watch Video Solution

93. Find the point on y-axis which is at a distance of /10

units from the point(1,2,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_zKjlGhFoPzKG
https://dl.doubtnut.com/l/_JhmO7M467MAU
https://dl.doubtnut.com/l/_RnMr4f33PwTj
https://dl.doubtnut.com/l/_Rz54qIZ45WFo

94. Find the point on x-axis which is equidistant from the

points A(3, 2, 2)andB(5, 5, 4).-

° Watch Video Solution

95. Find the coordinates of a point equidistant from the

origin and pints A(a, 0, 0), B(0, b, 0)and C(0, 0, ¢)-

o Watch Video Solution

96. Write the coordinates of the point P which is five sixth of

the way from A( — 2,0,6) — B(10, — 6, — 12).

o Watch Video Solution



https://dl.doubtnut.com/l/_Rz54qIZ45WFo
https://dl.doubtnut.com/l/_H1FHjvGjRsjI
https://dl.doubtnut.com/l/_XPFgDpE39666

97.If a parallelepiped is formed by the planes drawn through
the points (2,3,5) and (5,9,7) parallel to the coordinate planes,
then write the lengths of edges of the parallelopiped and

length of the diagonal.

o Watch Video Solution

98. Determine the point on yz-plane which is equidistant

from points A(2, 0, 3), b(0, 3, 2)and C(0, 0, 1).

o Watch Video Solution

99. If the origin is the centroid of a triangle ABC having
vertices A(a, 1,3), B( —2,b, — 5)and C(4,7,¢c) , find the

values of a, b, -


https://dl.doubtnut.com/l/_vKTHCVowVIKB
https://dl.doubtnut.com/l/_9wrce2c519L8
https://dl.doubtnut.com/l/_KOIflR4Ihgkw

o Watch Video Solution

100. The ratio in which the line joining (2,4,5) and (3,5,79) is

divided by the yz-plane is a. 2:3 b. 3:2 C.

-2:3 d.4:3

A2:3

B.3:2

C.—2:3

D.4:3

Answer: null

° Watch Video Solution



https://dl.doubtnut.com/l/_KOIflR4Ihgkw
https://dl.doubtnut.com/l/_A3NNviQu051I

101. The ratio in which the line joining the points (a, b, ¢)

and ( —a, — ¢, — b) is divided by the xy-plane is

A.a:b

B.b:c

D.c:b

Answer: D

° Watch Video Solution

102. If P(0,1,2), Q(4, —2,1)and O(0,0,0) are three

, T T T, T
points then ZPOQ = a. r b. %3 d. Bl

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_Di5jc4p8IYx8
https://dl.doubtnut.com/l/_zerYLgUdZtcf

103. If the extremities of the diagonal fo a square are (1,-2,3)

and (2,:3,5), then the length of the side is /6 b. /3 c. /b d.

VT

o Watch Video Solution

104. The points (5,4,2), (4,-3,1), (7,6,/4) and (8,7,5) are the
vertices of a. a rectangle b. a square c.a

parallelogram d. none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_zerYLgUdZtcf
https://dl.doubtnut.com/l/_hetvNDhfDvmf
https://dl.doubtnut.com/l/_j69bAobrh2dp

105. In a three-dimensional xyz space, the equation

x> — 5z + 6 = 0 represents

° Watch Video Solution

106. Let (3,4,-1) and (-1,2,3) be the end points of diameter of a
sphere. Then the radius of the sphere is equal to a.

2 b. 3 c.6 d.7

° Watch Video Solution

107. XOZ-plane divides the join of (2,3,1) and (6,7,1) in the ratio

a.3:7 b. 2:7 c.-3:7 d.-2:7

o Watch Video Solution



https://dl.doubtnut.com/l/_AfnycL80eQ7a
https://dl.doubtnut.com/l/_ZN2L3xii2SGA
https://dl.doubtnut.com/l/_9AY3psILsjSb

108. What is the locus of a point for which y = 0,z = 07 a.

x-axis b. y-axis c. z-axis d. yz-plane

° Watch Video Solution

109. The coordinates of the foot of the perpendicular drawn
from the point P(3, 45)on the yz-plane are a. (3,4,0) b. (0,7,0)

c. (0,0,8) d. (0,7,8)

° Watch Video Solution

110. The perpendicular distance of the point P(6, 7, 8) from

xy-planeis a.8b.7 c.6d.10

o Watch Video Solution



https://dl.doubtnut.com/l/_hdereSSlGdsX
https://dl.doubtnut.com/l/_pcZXokK0Rkip
https://dl.doubtnut.com/l/_w0aAzArZVlrj

111. The length of the perpendicular drawn from the point

P(3,4,5) on y-axis is a.3v/2 b. 5 c. /113 d. 5¢/2 e. /34

° Watch Video Solution

112. The perpendicular distance of the point P(3, 3, 4) from

the x-axis is 31/2b.5¢. 3d. 4

° Watch Video Solution

113. The length of the perpendicular drawn from the point

P(a,b,c) from zaxis is a. y/a®+b* b. /b*+ c

\/a2+c2d.\/a2+b2+c2

o Watch Video Solution



https://dl.doubtnut.com/l/_iB8dU4a6idO2
https://dl.doubtnut.com/l/_ezxB5OpNiAYj
https://dl.doubtnut.com/l/_wbbdhtZekYyY




